2 Quadratic Equations

Practice Set 2.1

1. Write any two quadratic equations.

Sol"e~  The C(uao\'{abﬁ’o aqqo,{:iong ar® of
%9')6 'POY”O oT®
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ax* 4+ be + ¢ =0

Examples of qua drabic eqqat’{or\s

oe

/

N sxr*+ 3= TI =0

iy 3®*>- Fe +5 =0©
2. Decide which of the following are quadratic equations.
(Hx*+5x-2=0
Sol™i=  x*+ 5x-2 =0
He ™,  vortable = |
) oox Prmn wre powe'Y = 2

This s o q uqJ'b’aHC cqqaﬁon :

(2)y*=5y-10
_5_0\.“:_ 31:5_5—40

HQ._S:! +(o = O



Here, V axlable = |

M ax| v POU?@‘( = 2
This s o quqci'b’a{f_'oc chzod‘:fon.
3)y? 1 =2
By + 7 =

SolIrh:-

M oox| e powex -3
This s mot a O[uaJ'b’aHC equo-tion.

@x+ L=
X



2 + ( = — 2

XL + 2w £ =0
Here, Voxvlable = |
Moximmwn  powet — 2

This s Q quqJ’b’ch 6qu0~{ﬂ'on.
S)(m+2)(m-5)=0
‘?_0_'“3‘ (m+2) (mMm-8) =0

m( -—5) +2 (m-5) = O

. Yt 5m +2m — 10 =0
H J v olable = |
Moximwn  powet — 2

This 1 O qqu"KaHC unoi‘fon,

(6)m> + 3m? -2 =3 m’

No
ﬂ°_ m3+3m7'_9_= 3m3

3m_ m2 —3m> +2 =0

‘s 2—”33——30’77"\’2:0



Here, V axtable = |
M ax| wrn POUJ@T - 3
This ts not o qqqc!"o’cch equotion

3. Write the following equations in the form ax* + bx + ¢ = 0, then write the values of
a, b, ¢ for each equation.

(1)2y =10 - y?

gol”- 2y = 10-y?
:j’)’ +2y -0 = O
Comparing with +he general oM

oRT+ br +c =0 , W€ get,

a=1 b= 2 £ c=—1o

2)(x-1)y =2x+3
Sol"s- (ex—-1Dr = 22+ 3
x*- oz +( = LR*3
Lo e+l -2k -3 =0
x*—4x -2 =0
Comparing with +he geneoval for

br +c =0 , we 39,{3,



B)x*+5x =-3-x)

)
SolM e

— 2L +5% = — (3-=)
»X + 5% = —3txX
X F50 +3 — R =0
e? t4e +3 = O
Compparing with +he  genéral oo
ox>+ b +c =0 , we geb,

o= | b=14 C =23

(4)3m*= 2m*-9

GolM o

Im*= Lm* - g
" BmQ'-—’)—mQ"]'S = O
mt +0m T39I =0

Comparing with +he general OO

aR>+ b +c =0 , we ges,
&:[ b= O c= 39



(3) P (3 +6p)=-5
So(Me— P(3+6p) = —5

A—

3p + 6pF +5 =0

6p* +3p +t5 = ©

Comparing with +he genevel oM

ax>+ br +c =0 , we geb,
a= b b=3 6 ¢=95
6)x>-9 =13
50175 %Z_ 9 = |3

—

vr 4+ ox —22 =0
Compar?nﬁ with +he 9 ener ol oM

ax>+ br +c =0 , we get,



4. Determine whether the values given against each of the quadratic equation are the

roots of the equation.
(Hx*+4x-5=0,x=1, -1

Sol" - x*+ 4 -85 = O

Fovy X =

(D> + (yxD) =5 =0
[ + -5 =0
S -5 =0
% =] S the Golubion of Hthe
given  egquation.
Foy »x=—1L,

(-0* + (yx-1)—& =0

| — -5 =0
Il -39 = o
_g #0
¥=— s not the 6olubion of *the

3]\/&0 ec,qa%}on.

5
(2)2m2—5m :O, mzz,z



Solht- 4 o o~ 0
Fox m =12,
22—~ (5x2) =0
(2 x4) — (Sx2) =0
¢ — [0 = O
-2 Fo
D=9 s ot the Solubion of the

8‘|\/'€O ec'qo.'(ﬁ()r’).
S

—

Fovy m = o ,
1 (2)¥- (5x2) =0

15
(2 xZ) — (SxZ) =0

2 R
5m:5_g‘ 'c the Solubion of Hhe

3]\/&) ec’uo_'(f;bf).
5. Find kif x =3 1s aroot of equation kx> - 10x + 3 =0.

20175 As %2=3 fs o w00t of the

8!\/‘&0 ee(qa.{:ibh,



- kel- De+3 =0
k(3)r— (lox3) +3 =0

gK-230+2 = O

gk - 2Lt =©

=7
6. One of the roots of equation Sm?* + 2m + k = 0 1s —. Complete the following activity

5
to find the value of ’k’.

-

Solution : [ 3 | is a root of quadratic equation Sm* + 2m + k=0

o Putm ={ 5 | inthe equation.
7 a\ 2 / a2\

5x[(8) +2x[Z)l+k=0
‘r9 T_Ll_";

T [+| S |+k=0

=1+ k=0

k=¥




